
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin Max Module Cerebrum 

 

11501012 1.5 m power cable, 3-pin IEC 

08190101 2.9x4.5 C. rec. Ph. Selftap bl 

08220102 3.2x7.5 Pop Rivet Alu/steel cl 

08190404 4.2x13 Torx20 FH Selftap black 

02204724 Accutouch 2216 controller 

05550021 Button for digiswitch , 1 hole 

11860274 Cable ButtonTFTCereb MaxxyzC 

11840144 Cable CAT5e, RJ45 to RJ45, 2m shielded 

11840127 Cable Cereb-Centronics MaxxyzC 

11860322 Cable LVDS AUO G121SN01 V3 

11860271 Cable PowerCerebIntern MaxxyzC 

11840129 Cable USBFrontCereb MaxxyzC 

32023001 Closed cell expanded rubber 3. 

05324102 Crimp Terminal small , 2.54m 

05501001 Digiswitch 

02205502 Digital encoder belt Blue LED 

05741613 Fan 12VDC 60x60x15 Low Noice 

05741416 Fan 12VDC w Feedb 40x40x10 

05020009 Fuse, 2A slow blow 

05247222 IEC Module In-Out Switch Fuse 

02000210 Intel Pentium-M Dothan 1,8GHz 

05120701 Jumper 2 Pole 2,54mm Spacing 

05555028 Keycap Cherry < 

05555027 Keycap Cherry > 

05555000 Keycap Cherry No text 

05555036 Keycap Cherry No text (Large) 

05552008 Knop fader f. MAXxyz 

39041009 LV-673ENS PentM Commel Mainb Maxxc 

08030502 M2,5x5 cs pz tapt shiny 

08052701 M3 nut lock PA shiny 

08054401 M3 washer lock 3,2/6 black 

08050709 M3x10 ph torx black 

08050706 M3x12 ph torx black 

08050802 M3x6 cs torx black 

08050702 M3x6 ph torx black 

08050700 M3x6 ph torx tapt spike black 

08053805 M3x6 stand off f/f PA 

08050809 M3x8 cs torx tapt spike black 

08050703 M3x8 ph torx black 

08073601 M4 riv nut cs spline 1-3 shiny 



08071208 M4x10 ch low allen A4 ds silver 

08071505 M4x10 set allen raw 

08071223 M4x12 ch low allen A2 DIN7964 

08070805 M4x8 cs torx tapt spike black 

62010024 PCBA Analog Fader no Motor 

62010555 PCBA CEREBRUM BASE OUTPUT TEST 

62010541 PCBA MasterFader Ctrl TEST 

62011023 PCBA TFT Button CTRL TEST 

62010543 PCBA TFT Buttons TEST 

62014504 PCBA USBFront Cerebrum TEST 

62011025 PCBA VGA/USB Cerebrum TEST 

34240006 Plastic bag, 600x850 

05323522 Plug female angle, wire, 2 pol 

06150015 PSU UNI 90-240VAC 12VD 75-100W 

08200102 PT 2,9x6,5 ph torx black 

08200107 PT 5x12 ph pz black 

19440140 Rubber foot FF-7 

39041507 SSD Drive 2.5 SATA 

13104003 Strap, black, 3.6x140mm 

13104000 Strap,black,high temp,2.5x98 

02204504 TFT 12.1 AUO G0121SN01 MaxxC 

02204703 TFT Invertor f. 12.1 MaxxC 

02204721 Touchpannel ELO 12.1 MaxxC 

08073801 UNC 4-40 stand off m7/f3 shiny 

11840066 USB 2.0 Cable, 1m 

06252013 USB DMX CONVERTOR 

13101008 Wire Retainer Flexible 

11850132 Wireset High Volt MCerebr Bot 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


